
 

Recall The Chow ring of M is

A M
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Im t Jm 1

where

Im XpXo l F G incomparable

Jm EyeXF g fXG I e f c E

and each xp has degree 1

Def Lef M be a simple matroid of mhr

on ground set E Let i c E and define

a E Xi p E XE E A M
Fai Ffi

Obsemayton x and B are independent of the choiceof IEE

XF XG by the linear relations Jm

B xp X



Props Let 0 EF EEE f EEE be a flag

If the flag is initial rkFi i for all i then

XFXE Xp I
t k I I c A M

If the flagis not
initial then
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k
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Proof we begin with an observation If F is a

non empty proper flat and ietf then

XFL Xp Exo Xp E Xo
Gai Gai

at FFG

In particular if heF r l then Xp x o



Proofof 20 for the flag to not be initial

we must hone her 1

If h r 2 then rh Fr z r l so the

product

Xp Xerez X 0

by B

For general L choose some if Fh

By

XF Xp x
h
XE xE XG x

h t

But this is a sum our length htt flags

which are not initial So it is zero by
induction



Pn Idnet on k

If h I Hen 0 FREE here F i

ar l LEE E

By Xgar
2 0 unless 0 f GEE is initial

i.e rh 6 1 But the only such flat is G i F

So
I xp or
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If he I the first h 1 steps of a Lstep initial

19 e g EE i EE.EE
will be initial also

By induction
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Choose i c FulFh By
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Garza



By each term corresponding to a

non initial flag

0 E F E E E E G G E

is zero

So we need Ga Fu But the only sneh G is

G d E U i3 Fu

So
yr I Xp Xp d
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